BW 12-5
1. How do you tell the difference between incomplete and codominance? By looking at the heterozygote phenotype- inc is new color, codom is showing both original colors
2. The F1 generation of flowers are pink, the P generation are white and red. Which type of dominance is exhibited?
a. Codominance				c. Mendelian
b. Classic					d. incomplete

12-6
1. What is one way to tell the difference between autosomal dominant and recessive pedigrees? Dominant is in every generation, recessive is every other generation or after a consanguis marriage 
2. In macromolecules, which of the following will have a long chain of carbons and hydrogens?
a. Carbs					c. lipids
b. Nucleic acids				d. proteins

12-7 12-8
1. What does polygenetic mean and give two examples. Polygenetic- many genes , examples- height, hair color, eye color, skin color
2. Which of the following is not found in/with the Kreb cycle?
a. Calvin				c. citric acid
b. Respiration			d. acetyl coA
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